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I 'x mwn: n” and onon disputing rights of litigants regarding selection of 1”2 and nullification of 01y or n2»7
a  If: the disputants agree to do so, each one chooses a 177, and the third is chosen by
i p”r both the 17 '9ya and the 2 o7
ii ~ p0om the two 0177 alone
1 Asper: the custom of D51, not to join as 7y or 017 (or a meal) without checking into their co-officiants
b Invalidating judges:
i p”r each one may invalidate the other’s judge(s) (discussed below)
ii  ppym may only do so with proof that he is 500 & 211p; but if they are 09> or ©’27% D’NMnN — may not invalidate
1 Question (on £77): how could he arbitrarily invalidate a 1>7?
(a) 77 only applies in ad hoc courts in Syria; but o’nmn may not be summarily invalidated
(i) Challenge: from p'nan’s response = n™ even allows for NN DT NY 0
(if) Response: they mean that if the 0>»7 are "0v3”, they should be considered as n'nmn
1. Challenge: ©'nan’s response to n™ is geared towards nnmn on»7
2. Answer: they meant 0177 that the public accepted as n'nmmn (supporting xn»1)
2 Question to p”7. aren’t D*TY::DNMN 0Y7? (i.e. can get no more credulous) and n™ allows 0227 N0 (below)
(a) Answerl (57): read vty (he can only invalidate if there is 1 witness)
(i) Question: what is the 1 7» coming for? Cannot be ynn — already n”nn %109; cannot be nY1aw — n"nn W
1. Must be: when he originally accepted the one as an 1nn 7y, then recanted (as per ’a niwn) — justified
(ii) Challenge; the language of the nwn is exact — and it speaks about 2 071y (as distinct from 1 1>7)
1. Answer (8”): the 17 Y1 and another are invalidating 7y
a.  Challenge: he is my1va ya (has an interest in invalidating) — should be 5108
b.  Answer: they are claiming an inherent 5104 ("nawn nia)
i.  p”7 testimony is about 1y, indirect result is his mTy in this case being ignored out
ii. 237 in any case, he is mTya Y as the immediate result affects his case
(b) Answer 2 (a1 *7as per »077 ’3): case - 1"va had 2 sets of o1y (and the other 7”ya invalidates the 1)
(i) 2779729 7% — therefore his invalidating the 1t no won't affect outcome (not ny1va yan)
(if) 27 9712% ¥"R — therefore his invalidating 1%t n> may affect outcome (if 24 na don’t show, are o9 etc.)
1. Question: what if 2" n3 are then found to be invalid?
a.  Answer (»70r *wx 77): the D5D9n 01y were already accepted —both groups are now “out”
2. Note: this seems to parallel dispute 3”2v7/727 about a defense of nprn w/r0v
a. 227 must (also) clarify 70w
b. 272w no need to clarify 10w
i.  Rejection: even »11 may agree that here, no need to clarify; there, nprn is built on 10w
(c) Answer3 (1212 "1as per 1237): this clause is a case where he invalidates 1y and that is substantiated
(i) Therefore: since he is believed about 07, we allow him to invalidate y»7
(if) Last clause: inversion — he claimed 17 was invalid and was proved right — wn...
1. Challenge (#37): not parallel; in case he invalidates 0’7, there are other 7 'n3; but no other o1y
a. Answer: in this case, there were 2 0™y 'n>
i.  Challenge: then 127’s case is essentially the same as »n>7’7's version
ii. Answer: they disagree about use of wn for invalidation
¢ Invalidating witnesses:
i p”7 each one may invalidate the other’s witnesses (also discussed below)
ii 2wy may only do so with proof that he is %100 W 27p; but if they are nw3, may not invalidate
II  Coda: (referring to 9"’s humble words about n™) — contrast of kindness and collegiality of »"} »nan with the haughtiness
and roughness of 521 »non (vv. 1-3)
a  Note: 13y "1 explained "11” as “mixed up with X Mwn ,RIpn” (praise?)
b Note: v. 4 - “darkness” is applied to Y21 Y® nTINHN
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